OPERATING BULLETIN ___ No. L 13/021

Sheet 1 of §

Effectivity: Incorporation of security items
on the L 13 ecanopy hinges on
ilplenes P/N 172601 through
285 provided with the cano-
py jet 1aoning system.

Reason: To avoid danger of the towing
| cable being caught by canopy
hinges.

iption: Installation of protective items
over the canopy hinges.

ion: Immediately
r tr ulletin and neces-
aery nntorlais have been ob-
tained.

by : The Operator.
Costs covered by: The Manufacturer.
Sughblier of materisl: The Manufacturer.

For material information and aceanplzahnent
instructions refer to sheet Nos. 2,3 which
are part of the Bulletin.

2 sheets of illustrations

Date of validity: 9.February 1964
Menufacturer’s Customer s
representative: representative:
Ing. Jernocky Ing. Boron
Foreign Trade State Aviation
Corporetion: Inspection:

Langové Kadledek



0.8, L13 /024

Sheet 2 of §

Item Qty Deseription ' Dwg.No. Material Sisy Note
l. 2 Hiﬁgo protective L13.105- 12020.1 dia.5,1=140 it.7
cable 03.17 -
2. 1 Hinge protective L 12,105 12020.1 " L,1=90 it.l0
! cable 03.20
3. 4 Serew M4x25 it.8
' CSN 021151
4. 4 Nut M4 LDN it.9
3235.1
5e 1 Copper wire No Dwg. 423001.1 4ia.5,1=150
6 1 Seal &ia.8 u Plastie
material
Te 1 Lockwire o 11341.1 diea.8,1=100
galvanized

1. Remove the lockwire et the centre pin of canopy hinge
preventing its release from the hinges, remove the wesher
and slide the cenopy forwaerd out of the hinges. Store
away from the sailplane.

2+ As shown on Figure 1 remove the seasl securing lever

- item 1 and unscrew the screws items 3 end 6 together
:ith nuts as well as the nuts end weshers of the screw
tem 2,

Carefully remove the front and the rear sovers items 4
and 5 to avoid demage to the eanuﬂy‘glszinf and rotating
of the lever item 1 forward. Shorten the distance tubes
for 1.5mm which were put on the screws item 3 /between
canopy frame and items 4 and 5/. Enlarge the holes of
the:* screws item 6 using a drill of 4.2 mm &iameter.



98 L13/024

Sheet 3 of §

Continued..

3. As shown on

5,

Figure 2, Detail view "B", install protective
hingea_;tem 7 on the cenopy freme, using

the screws M4x25 CSN 02.1151 /item 8/ and the nuts M4
LDN 3235.1 /item 9/, supplied by the Manufacturer.

/Protective cables must fit to the heads of the cahopy
hinges or else they must be properly fitted/. As shewn
on deteil view "A", install the protective cable over
the centre hi using original screws item 3 and put
the shortened distance tubes on these screws from inside
the cockpit. Ipstall the covers item 4 end 5 in their
original places, reinstall washers to item 3 and screw
the original nut on. e

Seal the lever item 1 by & newly supplied seal provided
with a copper lockwire.

Reinstall the cenopy into the hinges on sailplane and
secure agsinst sliding by washer and 2 lockwire on the
centre hinge pin as before. :



v (s N
S

2"Yna4 PR | r b . - -



e

2 /021 P& |

-".._‘-_-—.____\_\\_
\—‘__—:_:\_-:-x—‘;‘ ./.
— _\__\_\_\_‘\_\_\______\-:_‘:_ T—
N C‘_,__::_‘:‘___——-._;__

s-‘- ‘\“\\%&\
N

NS~




